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AP Psychology

Unit 6: Abnormal and Social Psychology
*Question order is not consistent across assessments.

Lesson 2 – Abnormal Psychology 
Quiz
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Lesson 4 – Attitudes and Social-Cognitive Theories 
Quiz
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Lesson 5 – Groups and Intergroup Relations 
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Lesson 6 – Abnormal & Social Psychology Dropbox Items
Sample Work – Teacher Graded

Lesson 7 – Abnormal Psychology and Social Psychology Wrap-Up
Test
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]
[image: ]

[image: ]
[image: ]
[image: ]
[image: ]
[image: ]


Lesson 8 – Abnormal & Social Psychology Essay Test
Essay Test – Teacher Graded
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+/ Question 1 1 point

Women are more frequently diagnosed with ___ than men are.

/(@ A major depressive disorder
(O B. schizoid personality disorder
() C. substance dependence
(O D. obsessive-compulsive personality disorder

(O E. antisocial personality disorder
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+/ Question 2 1 point

Aclinician who believes that the symptoms of a psychological disorder are primarily

learned would most likely be a

®@ OO0 0O

A. humanist

B. biomedical therapist
C. cognitive psychologist
D. psychoanalyst

E. behaviorist
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+/ Question 3 1 point

Atypical pattern of behavior associated with a manic episode might include

/(@ A spending money lavishly and engaging in high-risk behaviors
() B. beingunable to get out of bed for three days.
() €. hearing voices and seeing things
(O D. binging and purging

(O E. worrying about getting a rare disease for which one has no known
predisposition




image4.png
+/ Question 4 1 point

Which of the following experiences is an example of a delusion?

(O A. Feeling crawling bugs on your skin

() B. Hearing a voice that tells you to kill someone

(O €. Seeing demons on top of your TV set
/(@ D. Believing that the CIA is tapping your phone

(O E. Desiring alcohol so strongly you can't sleep
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+/ Question 5 1 point ~

Which of the following people is at greatest risk of making a successful suicide attempt?

(O A. Amiddle-aged, unhappily married woman
/(@ B. Anelderly, recently widowed man
(O €. AnByear-old boy diagnosed with leukemia
() D. Anadolescent female whose parents have just divorced

(O E Apopular but academically struggling male college student
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+/ Question 6 1 point

Which of the following symptoms is a typical negative symptom of schizophrenia?

/(@) A Lackof affect
() B. Muttiple personalities
(O c. Auditory hallucinations
(O D. Panicattacks

(O E. Violent behavior
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+/ Question 7 1 point

There s evidence that the risk of schizophrenia is increased by

(O A poor nutrition in early childhood

/(@ B. exposure to viralllness during the second trimester of pregnancy
(O . lack of maternal bonding
(O . incompetent parenting

(O E drugand aleohol abuse
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+/ Question 8 1 point

According to the American Psychiatric Association, a person who is experiencing
significant personal distress and impaired daily functioning would be considered to be

/(@ A. experiencing a psychological disorder
() B. clinically insane
(O . ready for involuntary commitment

(O . normal

() E. incompetent to stand trial
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+/ Question 9 1 point

The terms borderline and dependent refer to which group of psychological disorders?

() A. Organic dementias

(O B. Substance-abuse disorders
(O c. Impulsecontrol disorders
(O D. Schizophrenia

/(@ E. Personalty disorders
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+/ Question 10 1 point

A person who worries alot, avoids social situations, and has difficulty sleeping and
concentrating might be diagnosed with

() A. anaffective disorder

() B. dissociative disorder
/(@ C. ananxiety disorder

(O D. mental retardation

() E. adevelopmental disorder
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+/ Question 1 1 point

In psychoanalysis if the patient rejects the therapist’s interpretations of fantasies and
dreams, the patient may be said to be

(O A experiencing transference
() B. free associating
O c. projecting
/(@ D. resistant

() E incatharsis
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+/ Question 2 1 point

Which school of psychotherapy emphasizes understanding unconscious dynamics and
early childhood experiences?

O A Humanistic
O B. Behaviorist
@ C. Psychoanalysis
O D. Biological

(O E. Cognitive-behavioral
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+/ Question 3 1 point

Acognitive therapist might point out to an individual who only seems to notice and
remember mistakes at work and never remembers successes that he is engaging in

/(@ A selective perception
() B. catastrophizing
() c. underperformance
(O D. overgeneralization

(O E. allornothing thinking
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+/ Question 4 1 point

Which of the following is an example of an anti-depressant medication that works by
making serotonin more available at the synapses?

O A Elavil
(O B. Nardil
(O C. Xanax

() D. Haldol

v @ E. Zoloft
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+/ Question 5 1 point

Most biomedical therapies for psychological disorders involve

V(@ A medication
() B. shock treatments
O c. lobotomies
(O D. cingulotomies

(O E. involuntary commitment
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+/ Question 6 1 point ~

Because some ant-psychotic medications block the effects of dopamine, they can cause
severe side effects such as

/(@) A tardive dyskinesia
(O B. voluntary mutism
(O ¢ delusions
(O D. hallucinations

(O E. lackof emotion
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+/ Question 7 1 point

Aperson who has an intense phobia of heights is forced to spend an afternoon on the
observation deck of a skyscraper. This is a therapy method called

V@ A flooding
() B. implosive therapy

(O c. light therapy
(O . cognitive behavioral therapy

() E. systematic desensitization
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+/ Question 8 1 point

A psychotherapist who employs a combination of cognitive-behavioral and humanistic
interventions and medication in conjunction with lifestyle modifications would be
referred to as

() A humanistic

(@ B. eclectic

(O . behaviorist
() . biomedical

(O E. psychoanalytic
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+/ Question 9

1 point

Client-centered therapy is based on

(O A social cognitive theory

(O B. Psychoanalytic theory

(O c. Classical conditioning
/(@ D. Humanistic theory

(O E. Operant conditioning
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+/ Question 10 1 point

Which of the following is a strategy that would be employed by a humanistic.
psychotherapist?

(O A Reframing a client’s distorted thinking
() B. Interpreting a client's dreams.

(O ©. Rewarding a client for reducing the total number of maladaptive responses
+/ (® D. Demonstrating empathy for the client

() E. Confronting a client about irrational feelings
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+/ Question 1 1 point

f you have been persuaded to change your attitude on an issue by listening to a speech
given by a well-known rock musician, you've been influenced via to
persuasion.

(O A mere exposure

() B. the central route

(O c. the cognitive approach
(O D. compliance

/(@) E. the peripheral route
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+/ Question 2 1 point ~

You refuse to lend your friend $100.00 to buy concert tickets but you agree to his request
1o give him and his date a lif to the train station on the night of the concert. This is an
example of technique.

() A compliance
/(@ B. doorinthe face
(O c. reciprocity

(O D. footin the door

O E lowball
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+/ Question 3 1 point

Afirst year college student is exira careful to dress in outfts that are considered
fashionable by others in her dormitory and to abide by rules for quiet study time. Her
behavior s likely the result of

/(@ A normative social influence
() B. false consensus bias
() . social facilitation
(O . base rate fallacy

() E. obedience
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+/ Question 4 1 point

People are less likely to come to the aid of an individual in trouble when there are many
other people present. This principle is referred to as

A social facilitation

B. the sleeper effect
(O ¢. minority influence

/(@) D. the bystander effect

() E. mere exposure




image25.png
+/ Question 5 1 point

A person who deliberately parties and stays out all night before the Graduate Record
Examination may be engaging in

O A selfsenving bias
(O B. pluralistic ignorance
/@ c. selfhandicapping

(O . personaunstable causes

(O E. confirmation bias
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+/ Question 6 1 point

Inthe Rosenthal study of academic "bloomers the children who improved their
performance over the year did so because of their teachers’

(O A. fundamental attribution error
@ B. selfulfilling prophecy

(O . confirmation bias

() . false consensus bias

() E. baserate fallacy
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+/ Question 7 1 point

Your idea of what a graduation party should include is called a

V@ A schema
() B. self-concept
() c. stereotype
(O . selffulfilling prophecy

() E baserate
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+/ Question 8 1 point ~

Your professor asks you to do a boring clerical task for $6.00 an hour. Your friend is
asked to do the same task but is paid $25.00 an hour. Your professor seems very
concemed that you find the work to be interesting and fun. According to Festinger, when
you are both asked what you thought of the work

(O A Youuwill both say it was not fun work

/(@ B. Youwill say it was fun and your friend will say it was not.
(O C. You will say it was not fun and your friend will say it was.
(O . Youwill both say it was fun work.

(O E. Youwill both avoid the question entirely.
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+/ Question 9 1 point ~

To overestimate the influence of a person's character and underestimate the influence of
the situation is to

(O A engagein group think

() B. stereotype

/(@ c. commit the fundamental attribution error
(O . believe inthe just world hypothesis

() E. experience cognitive dissonance
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/ Question 10 1 point

Jane assumes that all people in the drama club are creative and fun-loving because her
new best friend is in the drama club. Her mistaken thinking is an example of

(O A. fundamental attribution error
() B. false uniqueness

V(@ C. base rate fallacy
(O . confirmation bias

O E selfulfilling prophecy
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+/ Question 1 1 point

A club president who chooses officers based on the fact that they are all in the same
class is engaging in

(O A Conformity
(O B. Stereotyping
@ c. Discrimination
(O D. Prejudice

(O E. Prosocial behavior
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+/ Question 2 1 point

Inthe original version of Milgram's obedience study, the teachers’ most common
response to the directive to continue delivering the shocks was

(O A. begrudging compliance at first, then protest, and finally refusal
(O 8. compliance from the males, refusal from the females

/(@ c. compliance all the way until the end
(O D. complete compliance at first, but ultimately refusal

(O E refusal right from the beginning
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+/ Question 3 1 point

The type of tasks that respond well to social faciltation effects tend to be

(O A creative or artistic endeavors

(O B. complex and demanding
/(@ c. simple and wellrehearsed

(O D. cooperative group efforts

(O E. improvised on the spot
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+/ Question 4 1 point

Ateacher who thinks that all Catholic families are over-involved in their kids' lives is
engaging in

() A. Prosocial behavior
(O B. Discrimination
(O C. Prejudice

/(@ D. Stereotyping

(O E. Conformity
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+/ Question 5 1 point

If two groups are hostile to each other, one of the best ways to reduce the level of
prejudice between them is to

/@ A introduce an outside threat that forces them to cooperate with each other
() B. educate them about the negative effects of stereotypes

C. let members of one group supervise members of the other group in a
difficult task

() D. keep them apart as much as possible

(O E. create situations in which the groups must compete with each other
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+/ Question 6 1 point ~

The unwritten rule that one raises one’s hand in order to speak out in class is an example
of

() A aschema
@ B. anom

(O c. aconcept

(O D. astereotype

() E aheuristic
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+/ Question 7 1 point

Social loafing is more likely o occur when

(O A. the work group is comprised of paid staff

/@ B. the task is simple and no individual recognition will be given
() C. thetaskis complex and the group is composed of volunteers
(O . the work group is single sex

(O E. the work group is made of members of different ethnic groups
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+/ Question 8 1 point

A high school water polo player wha just carit stand anyone who plays for the football
team is showing

O A Conformity

(O B. Stereotyping

(O c. Discrimination
V@ D. Prejudice

(O E. Prosocial behavior
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+/ Question 9 1 point

Inthe Bay of Pigs decision, everyone in the meeting went along with the leader's opinion
and no one expressed doubts even though they had them. This is an historical example
of

() A. the sleeper effect
/@ B. groupthink

(O c. pluralistic ignorance

O . conformity

(O E obedience
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+/ Question 10 1 point ~

After an unfavorable verdict in a court case against their political leader,large numbers
of his supporters run rampant, destroying homes and property in several regions of their
country. Such behavior is often a result of

(O A social facilitation
(O B. conformity

() c. obedience

(O D. pluralistic ignorance

/(@ E. deindividuation
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+/ Question 1 2 points

Which of the following terms best explains why normally law-abiding people would
involve themselves in a riot?

(O A Antisocial personality

(O B. In-group bias

O c. Group polarity
/(@ D. Deindividuation

(O E. Groupthink
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+/ Question 2 2 points

Men are diagnosed with ___ more frequently than are women.

(O A panicdisorder

(O B. major depressive disorder
/(@) c. antisocial personality disorder

(O . histrionic personality disorder

(O E. dependent personality disorder
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+/ Question 3 2 points

Mike and Mack are identical twins, while Betty, and Bonnie (unrelated to Mike and Mack)
are fraternal twins. If Mike is affected by schizophrenia then which of following
statements is most likely true?

(O A Betty and Bonnie have equal chance of getting the disease as Mack.
() B. Betty and Bonnie have a 10% chance of developing the disease.

() €. Mackhas a 90% chance of developing the disease because of genetic
similarity.

/(@ D. Mack has a 49% better chance of developing the disease than the fraternal
twins.

() E. Mack, Betty and Bonnie all have a 1% chance of developing the disease.
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+/ Question 4 2 points

Prozac functions as an antidepressant because it

®@ OO0 0O

A produces a slight euphoric state.
B. inhibits limbic system reactions to stressors.
C. enhances the production dopamine.

D. blocks the retrieval of negative memories.

E. blocks the reuptake of serotonin.
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+/ Question 5 2 points

Anairline pilot suddenly begins experiencing a loss of sensation in his arms right before
takeoff. Doctors are unable to find a physiological reason for this occurrence. This pilot
is most likely experiencing which of the following type of disorder?

O A Mood
@ B. Somatoform

(O c. Personality

() . Dissociative

() E. Anxiety
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+/ Question 6 2 points

Social loafing is less likely to occur when:

/@ A people know that their individual contributions will be recognized
(O B. when the group is comprised of volunteer members.
() €. when the group is composed of all males or all females.
(O D. when the group is made of members of different ethnic groups.

(O E there are more than 10 people working in the group.
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+/ Question 7 2 points

Ahumanistic therapist would probably argue that the major cause of unhappiness in
people is because of:

(O A. unresolved unconscious conflicts.

() B. anegative environment.

(O €. irrational thoughts about one's abilites.
(O . aphysiological imbalance.

/(8 E. agapbetween one's ideal and real self.
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+/ Question 8 2 points ~

Seven people watch a mugging. Nobody intervenes. A social psychologist would say
specifically that ___ occurred, causing all the witnesses to think that someone else was
going to help.

(O A selfulfillng prophecy
(O B. fundamental attribution
@ c. diffusion of responsibility

(O D. social loafing

() E. social facilitation
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+/ Question 9 2 points

Two years after surviving a plane crash, Randy s still having flashbacks and sleep
problems. Itis most likely that Randy is suffering from

/(8 A. PTSD/Posttraumatic stress disorder
() B. generalized anxiety disorder
(O ¢ agoraphobia
(O . dissociative disorder

(O E. somatoform disorder
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+/ Question 10 2 points ~

Lisa is often seen crying in the halls and at parties, over something her boyfriend said or
something her parents did to her. This antic garners her a lot of attention from others,
who try to comfort her. This behavior is most consistent with:

(O A antisocial personality.

(O B. borderline personality disorder
(O . schizoid personality disorder.
(O . narcissistic personality disorder.

/(@ E. histrionic personality disorder.
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+/ Question 11 2 points

Virtual reality programs featuring encounters with spiders, trips by airplanes, and other
fearinducing situations are now effectively used to treat various kinds of phobias
through the process of

() A. counter transference.

() B. rational-emotive therapy or RET.
/(@ C. systematic desensitization.

(O . flooding

() E. aversion therapy.
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+/ Question 12 2 points

The fundamental attribution error says that when we explain the failures and
shortcomings of others, we usually underestimate the significance of:

() A. behavioral factors
/(@ B. situational factors.

() c. personality traits.

(O . group dynamics.

O E. dispositional factors
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+/ Question 13 2 points

Exposure therapies are based on:

(O A. psychoanalytic theory.

O B. so

(O C. humanistic theory.

cognitive theory.

/(@ D. classical conditioning

(O E. operant conditioning.
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+/ Question 14 2 points

Which school of psychotherapy emphasizes the goal of personal growth?

(O A Cognitive-behavioral
(O B. Behaviorist

V@ c. Humanistic
(O . Psychoanalysis

(O E Biological
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+/ Question 15 2 points ~

InMilgramis obedience study at Yale, approximately what percentage of people were
willing to obey an authority figure and give the direction to administer an electric shock of
450 volts, even though this meant that they were giving directions to harm another
human being?

O A 25%
O B. 50%
V@ c 65%
QO b.74%
O E 100%
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+/ Question 16 2 points

Which behavioral therapy intervention might be used in a special education classroom
for children with attention deficit hyperactivity disorder?

() A. Systematic desensitization

(O B. Aversive conditioning
/(@ c. Token economy

(O . Counterconditioning

O E. Thought feld therapy
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+/ Question 17 2 points

Ina health class, you attend a presentation on the dangers of cigarette smoking.
Afterwards, a friend who smokes says that the anti-smoking forces simply exaggerate
smoking’s bad effects. Your friend has likely come to this conclusion to reduce the

effects of

(O A fundamental attribution
/(@ B. cognitive dissonance

(O . confirmation bias

(O . selfhandicapping

() E. scapegoating
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+/ Question 18 2 points

According to outcome research, an effective treatment plan for moderate depression
should include

(O A long-term hospitalization and behavior therapy.

(O 8. family therapy and medication

(O . electroconvulsive shock treatment and medication.
/(8 D. cognitive behavioral therapy and exercise.

(O E humanistic psychotherapy and selfhelp books.
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+/ Question 19 2 points ~

Jerome, a 54-year-old male, has been found living on a small farm in the Mid-west, nearly
800 miles from his apartment in New York City. Although he was once a successful stock
trader, e has no recollection of this former e and has assumed the identity of a novice
farmer. His wife identifies him based on his appearance, although he has no recollection
of his life with her. This is most consistent with what diagnosis?

/(@ A Dissociative fugue
(O B. Borderline personality disorder
() €. Undifferentiated schizophrenia
(O D. Dissociative amnesia

() E. Dissociative identity disorder
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/ Question 20 2 points ~

According to the results of Asch's conformity study, if a person s at a party and everyone
is raving about a music group that the person can't stand, what reaction is that person
most likely to have?

(O A They will probably try to avoid giving their opinion about the group.
(O B. They will mostlikely disagree that the group is good.

/(@ c. Theywill mostlikely agree that the group is good
(O D. They will feel angry about the music choice and ask to change it

(O E. They may or may not agree that the group is good.
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+/ Question 21 2 points

Dr. Henrietta Mosely s trying to eliminate a phobic response to dogs for one of her
clients. She would most likely use which treatment to accomplish this goal?

/(@) A. Exposure therapy
(O B. Psychoanalysis
(O c. Drugtherapy
(O D. Psychosurgery

() E. Aversion therapy
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+/ Question 22 2 points

After two months at your new job you find you like your co-workers. This is most likely
the result of:

() A social facilitation.
/(@ B. mere exposure.

(O c. minority influence.

() D. bystander effects.

(O E sleeper effects
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+/ Question 23 2 points

Which of the following is a typical negative symptom of schizophrenia?

(O A Auditory hallucinations
() B. Panicattacks

(O ¢ Multiple personalities.
(O D. Violent behavior

/(@) E. Lackof affect
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+/ Question 24 2 points ~

If a teacher began treating the girls in the class as if they were superior to the boys in the
class, what might Jane Eliot predict would most likely happen with the girl's behavior
toward the boys?

(O A The justworld hypothesis
(O B. Stereotyping
() C. Bystander effect

/(@ D. Scapegoating

(O E Ethnocentrism
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/ Question 25 2 points

Which one of the following conclusions is not supported by current biological research
on schizophrenia?

(O A There appears to be a strong genetic predisposition toward schizophrenia.

/(@ B. Schizophrenics produce excessive amounts of the neurotransmitter
serotonin.

() C. Prenatal viruses may play a role in the development of schizophrenia.

() D. The ventricles of the brain are enlarged in many individuals with
schizophrenia.

() E. Schizophrenia is associated with excess or oversensitive dopamine
receptors.
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